Closing Tues: 5.1/5.2,5.3 Entry Task: Do you know the basic algebra
Closing Thur:  Optional Ch. 2 Review solving toolbox? Show me, solve these...

Exam 2 is Thursday, Feb. 27th Equation Inverse
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5.3: More About Exponentials and Logs
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Another perspective: Many students Solving is using inverses in correct order!

think of inverses as “canceling”. Directly from Homework:—
SO = x 5.1/5.2: Problem 8 _
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5.1/5.2: Prgp_lgmvlo
Solve 8e2t=5 < 24
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Basic Logarithm Facts (Seemens 5.3)

Rule

1=¢e%so In(1)=0
e=el so In(e) =1

In(ab) = In(a) + In(b)

In (%) = In(a) — In(b)
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\ 5.3: Problem 2

Solve for x: 0.23P =P (2)7*
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The Ch. 5 homework just gives practice  5.3: Problem 8: Given y = P,et

with plugging in and solving. Here are Given in 1998 (t=0), y = 100,000:

the “hard” problems: s0 100000 = P,eh(®
Given in 2008 (t=10), y = 110,365:

5.3: Problem 7: Given P = Ae~0-05t 50110365 = P,eM(0

(a) A=75000, P = 40000, whatist? ~  Asked: in 2023 (t=25), what is y?

(b) P =60000, t = 10, what is A?
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5.3: Problem 10: Givenp = 100¢e 2

(@) Ifg=4, whatis p?
(b) If p=2.01, whatis q?
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5.3: Problem 11:
Given p = 500e %7 =price.
What is revenue when x = 1007?
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